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() @—y)(@+y)=_X=u"

(b) (2a—3)(2a+3)=_Ha -4

(©) (r-3)(z+2) —a?+8=_2=x

(@) (@+17—(@-1?=_4X

(@ (z+1)(z—2)(e+3) = Xrau=5x~C

(f) (z+1)(20% —z+8) = 20X+ 2x+3

(8) (zx— 2z —1)(22% —z +3) = = -x"~w-3
(h) (22 +3y—1)% = 4+ 90"+ 12xu~Yu-by + 1
(i) (a8 = ot 2abxh
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[Q3] Solve the following equations.
(a) z+5=11. Answer: z= &

A
(b) 6a=20. Answer: a= %

(c) b/3=—5. Answer: b=~ |5

£
(d) 3z +5=10z. Answer: = 3

(e) 2z —5="T. Answer: z = 6 |

(f) 2z+2=2+4 Answer: z= 2

i
(g) 52— 2=12—3z. Answer: g= ¥

(h) 2(5z+ 1) = 4(3z — 7). Answer: z = s




(i) 2(2z+ 1)~ 3(x~1) =8 Answer: z=__ 3

() 22 =4. Answer: z=_* 2

[Q4] (a) Solve the inequality 5z + 2 > 12. Answer: __X > 2
(b) Solve the inequality ~2z + 3 > 13, Answer: _X < -5
(c) Simplify the following expression.
(VIZ-v3)P=_3

(d) Suppose that f(z)=2(3z —4).
Then f(4) =l

(e) The area of a triangle is
1ph

where b denotes the length of the base and h the height of the tri-
angle. The areaof a trianglewithb = 7emand h = 4cmis _{Yem®



